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Question Number : 1 Question Id : 630680634155 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Frequency modulation index my is defined as the

Options :

1. % ratio of the maximum deviation occurring in the frequency of modulated wave and the maximum frequency of the modulating signal
2. ¥ sum of the maximum deviation occurring in the frequency of modulated wave and the maximum frequency of the modulating signal

3. ® product of the maximum deviation occurring in the frequency of modulated wave and the maximum frequency of the modulating
signal

4. % inverse of the maximum deviation occurring in the frequency of modulated wave

Question Number : 1 Question Id : 630680634155 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



3R AT GeH Yehih m Bl F = H aRuifd far Srar 81

Options :

1. ¢ AT T &1 Mg 3R ATgTDHRI Ridt 1 SHfUHad ogi & g ardl e faeee &1 Siurd
2. % TIGRId AT B1 Mg 3R ATgTIHRI Riat @ SHfHay Sraf § g aral iferdsaw faee &1 am

3. % TG a1 g 3R ArgadR Rra &t siftierad 3mafay # 811 aral sifiieaw faaer &1 uHwa
4. % AIGferd a1 3t 3MgRi & g a1at SHf¥pad fage &1 o d

Question Number : 2 Question Id : 630680634156 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statement is correct regarding Amplitude modulation?

I. Amplitude modulation (AM) gives rise to amplitude envelop to the carrier wave, the shape of the envelope is decided by the modulating
signal.

II. The amplitude modulated (AM) signal contains the carrier frequency and the side bands due to sum and difference of frequencies of
carrier and modulating signals.

Options :

1. % Only 1

2. % Only II

3. % Both I and II
4. % Neither I nor II

Question Number : 2 Question Id : 630680634156 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

T Aiga & Tay § Fofeied & & SH-91 H3= I8l 82

1. T HIGAT (AM) A6 a1 T SATATH AT ST~ Bl 8, STy Bt Mpia, ATgeraRl Rea gr1 FAuiid gidt 81

IL &%%W(AM)WﬁWWﬁwé@sﬁ%aﬁmﬁw@mﬁ%ﬁmﬁrﬁ%uﬁﬁﬁ%
HRU |

Options :

1. % $Had 1

2. % Had Il

3. 1SR gHl

4. % FATRAGI

Question Number : 3 Question Id : 630680634153 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statement is correct regarding FM demodulation?
1. The process of extracting modulating signal from a frequency modulated carrier is known as demodulation.
II. Electronic circuits that perform the demodulation process are called FM detectors.

Options :

1. % Only I

2. % Only II

3. ¥ BothIand II
4. % Neither I nor II

Question Number : 3 Question Id : 630680634153 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

FM faTged & ey & Fafafad & 9 o1F-91 vy 98 52

1. 3MgRI AIGRId aTee | Higer R Fspyu uehH fadTger Heard 2|
11 3daTe IRUY S faATg e UhH A § 3= FM f3eaer deI e 2|
Options :

1. % Had |



2. % FHad I
3. [ 3R 11 gHl
4. % FA1ARTN

Question Number : 4 Question Id : 630680634154 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statement is correct regarding FM detector extraction process?

L. It converts the frequency modulated (FM) signal into corresponding amplitude modulated (AM) signal by using frequency dependent
circuits.

II. The original modulating signal f{(t) is recovered from amplitude modulated (AM) signal by using a linear diode envelope detector.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. % Neither I nor II

Question Number : 4 Question Id : 630680634154 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

FM f&aer fsamefur vepm & ey Hf FAufefad o & &F-91 w98t 82

1. 8 g i uRkull &7 U Hxdp Mgy Figlerd (M) RTa o1 T s gl (aM) Reee & ufkafdd srar g1
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|

Options :

1. % Had [

2. % Had 11

3. ¢ 13RSl

4. % FA1RAG I

Question Number : 5 Question Id : 630680634151 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In phase modulation (PM) type of angle modulation, the phase angle w(t) is varied with a modulating signal fit)
about an unmodulated phase angle ot

Options :

1. ¢ linearly

2. ¥ exponentially

3. % sinusoidally

4. ® inversely

Question Number : 5 Question Id : 630680634151 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
FIOT Ageld & Bf Algerd (PM) TR H, HT FI0T y(t) TF FAAGAd Bt 0T oct T Agerd faeater
f(t) & @ afafda g &

Options :

1. D

2. % TP
3. % ad

4. % ISP EIY



Question Number : 6 Question Id : 630680634148 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

An 8-bit microprocessor like the 8085 has data lines.
Options :

1. #* four

2. % gix

3. ¥ eight

4. # eleven

Question Number : 6 Question Id : 630680634148 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

8-fiC ATSHITRIR O b 8085 ST AR gt g1
Options :

1. # IR

2. % 95

3. 36

4, % Rg

Question Number : 7 Question Id : 630680634149 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is correct regarding register?
I. Registers are used for storage of small data in the microprocessor.
II. Flags are single-bit registers used to store certain conditions which arise as a result of execution of certain instructions.

Options :

1. % Only I

2. % Only I

3. % Both [ and I
4. % Neither I nor II

Question Number : 7 Question Id : 630680634149 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Iforex & ey H Fgfafad o @ - a8 82

1. IR BT ITART ARZHITRR A BIe ST F HIRU & e fmar S g |

1L U7 Uohal-fe Xforer 81 & T SuaiT oo 2l & TUeld - & fore fasar Siran 8 ot Afda sreen & fAwarea &
RT3 Bl B

Options :

1. ® Had 1

2. % Had Il

3. ¢ 13RI Ml

4. % FAIRAG I

Question Number : 8 Question Id : 630680634169 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

It is useful to plot polar lines from the centre of antenna in different directions such that the length of a line is proportional to intensity S,
of radiation in that direction, the of these lines gives the radiation pattern of the antenna.

Options :

1. # average of length

2. ¥ locus of tips



3. # sum of heights
4. % sum of width

Question Number : 8 Question Id : 630680634169 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Te1 & s ¥ fafti= el & ydia YTy sifehd 31 IUaRT gier 7, i s Y ot s 3w fa=m o fafovor 1 e s, &
AU Bl 8, gAv@ell U ot fafehRur e yeH drar 2|

Options :

1. % & daTg BT 3

2. ¢ & Rl o1 fdguy

3. % B SHdAls H1AAT

4. % DI ST HTA

Question Number : 9 Question Id : 630680634168 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A simplest antenna is a small length of straight wire with
Options :

1. ¥ a cut in the middle

2. % a cut at the top

3. # acut at the down

4. ¥ bend without any cut

Question Number : 9 Question Id : 630680634168 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

THE AT P 1Y BT GaTS aTer T T IR giaT g
Options :

1. ¥ dI9 H Th B

2. % YR TS FHe

3. % 14 B 3R U He

4. % {1 foblt pe o A9

Question Number : 10 Question Id : 630680634170 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statement is correct regarding antenna gain?

1. Tt characterises the directivity of the radiation.

II. It is the ratio of maximum intensity obtained in certain direction by the antenna to the intensity obtained from an isotropic radiator of
the same power.

Options :

1. % Only I

2. % Only II

3. % Both I and IT
4. % Neither I nor II

Question Number : 10 Question Id : 630680634170 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
TeT Al & Hay | Fafiied § 3 oH-91 $3F 981 o2
1. 7% fafas=ur 1 iR =i g1
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|

Options :

1. % Had 1

2. % Had Il

3. ¢ 13RSl

4. % FA ARG

Question Number : 11 Question Id : 630680634175 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statement is correct regarding signal flow graphs?
I. A signal flow graph is a graphical representation of the relationships between the variables of a set of linear algebraic equations.
II. It consists of a network in which nodes representing each of the system variables are connected by directed branches.

Options :

1. % Only I

2. % Only 1I

3. % Both [ and I
4. % Neither I nor II

Question Number : 11 Question Id : 630680634175 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Ra 718 offeie & Haiy § Fafiiad # 9 $H-91 $UF 981 82

1. RywTet garg 3ireie, YR sorOriy qeiesRul & Ueb e & =R b did et 1 Tob b1y gl glar |
11. 98 U Aedd 5idl § o U HHbr R B FEud & ard s, e Rid rarsi gRIGS 8 8 |
Options :

1. % Bad 1

2. % Had I

3. 13RI gHl

4. % FATARAGN

Question Number : 12 Question Id : 630680634172 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A typical control system has
1. controller to which input signal is applied
II. plant or process which receives signals, called manipulated variables, from controller and produces desired output

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. % Neither I nor II

Question Number : 12 Question Id : 630680634172 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

ue fafdry fd=or yomedt & BT gl

1. = 59 W 377y Reea ugad fear Srar g |
11.Hﬁgmw,a‘rﬁﬁ%@rﬁﬂamﬁrm%ﬂ%mm(mmmlated variables) B8 ST § 1R BT 3ATICYe I
HAT g

Options :

1. % Had 1

2. % Had I



3. ¢ 1 3R 1 gHl
4. %A 1MRTN

Question Number : 13 Question Id : 630680634201 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the context of Block diagram reduction. which of the following is correct regarding eliminating a feedback loop for
the given figure?

X X,
5 % 1¥GH
X, i
1 7 Ea
G
s I+H
4.%

Question Number : 13 Question Id : 630680634201 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
selleh W HAIA (Block diagram reduction) % Test H, faw srv Ry & fow gasior aer 1 @er
T & TEY H HeAtondd § § Hi-A1 TEr g?

Options :
X, G % o
. 1+GH
X X,
1+GH



Question Number : 14 Question Id : 630680634173 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the context of Block diagram reduction, which of the following is correct regarding combining blocks in cascade for
the given figure?

XGG,
4, G, F-5u(G, | N
Options :
i XGE
TN P
|
X G |Gty
|
G,
2. %
G
% T 117G
GG, >
3.0 %
X J6
X GG,
%
4 G,
4. %

Question Number : 14 Question Id : 630680634173 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
TATF W TAAIA (Block diagram reduction) & #esT &, Rw v =y & BT @iuasa & = &
O ¥ "y # eRe d @ #laar adr @2
X.GG,
G F284yG, !

X,

W

Options :



% X,GG,

L [GG, >
1.
X| (ll XIG!G"’
|
G,
2. %
G
% 1176
Ga, %
3 %
X >
—— G,
X GG,
%
X G,
4 %

Question Number : 15 Question Id : 630680634189 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Obtain the value of “i’ in the given figure, if i; = 4A, I =—3A in the dependent current sources.

X

Fa?

i

D4 R 3i,

Options :
1. 8 25A
2.¥7A
3. % 16A
4. % 9A

Question Number : 15 Question Id : 630680634189 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
fer o By & 0 F A3 AT $if5w, o @ g w@a 70y = 4A, i = -3A 7

X

i R 3,

Options :
1. % 25A
2.¥7A
3. % 16 A
4. % 9A



Question Number : 16 Question Id : 630680634190 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Obtain the value of ‘R’ in the given circuit.

1
LA
. 4
2V
® v R
10 A
Options :
1.405Q
2.%1Q
3.52Q
4. %10Q

Question Number : 16 Question Id : 630680634190 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

few a7 9figy # 'R’ & AT 99 ST

1
S
ra

P
4
2V

® ¢

10 A =

Options :
1.405Q
2.%1Q
3.¥20
4. %10Q

Question Number : 17 Question Id : 630680634128 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT the terminal of transistor?
Options :

1. ¥ Receiver

2. % Emitter

3. # Collector

4. % Base

Question Number : 17 Question Id : 630680634128 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
fafoad § § o, giftrer &1 efifaa T8t 82

Options :



1. ¢ RAflaR
2. % TR
3. % Hgex
4. % 99

Question Number : 18 Question Id : 630680634129 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A is a special type of diode that is designed to operate in the reverse breakdown region.
Options :

1. % zener diode

2. # light-emitting-diode

3. # photo-diode

4. % tunnel diode

Question Number : 18 Question Id : 630680634129 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

—WWWWW%WWW(WV&%breakdown) %ﬁm%m%ﬁmmm%l
Options :

1. ¥ YR ST

2. % oSC AT SIS

3. % Blcl-SMAIS

4. % oI SAIS

Question Number : 19 Question Id : 630680634191 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statement is correct regarding photo-diode?

1. A photo-diode is a reverse biased silicon or germanium pn junction in which reverse current decreases when the junction is exposed to
light.

Hglr}the reverse current in a photo-diode is directly proportional to the intensity of light falling on its pn junction.

Options :

1. % Only I

2.+ Only II

3. % BothTand II

4. % Neither I nor II

Question Number : 19 Question Id : 630680634191 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Wicl-SrTe & Ty H FufaRad & § &F-91 &Y I8l 82
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|

11 1SS & IehH YRT ITP pn S TR 3MTUfeid Wb ciierell & SrIshHard! gt 81

Options :

1. % $ad 1

2. FHad Il

3. % [ 3R aHl

4. % A TSRAG

Question Number : 20 Question Id : 630680634132 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

In the context of gain and transistor configurations, which of the following exhibits all three type of gain?
Options :

1. ¥ Common emitter amplifier

2. # Common base amplifier

3. # Common collector amplifier

4. ¥ Common receiver amplifier

Question Number : 20 Question Id : 630680634132 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

AR 3R ¢iforeR faamg & T &, Fefifed & § H-a1 41 ueR Bt afsr uefiRid erarg?
Options :

1. ¢ DI TR TRABRR

2. % DIHT o THRATBIR

3. % BHIAT Beide’ THRITBIR

4. % HIA REYTR TRATBRR

Question Number : 21 Question Id : 630680634133 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statement is correct regarding multistage transistor amplifier?
I. A transistor circuit containing more than one stage of amplification is known as multistage transistor amplifier.
II. In multistage amplifier a number of single amplifiers are connected in cascade arrangement.

Options :

1. % Only I

2. % Only II

3. % Both I and I
4. % Neither I nor II

Question Number : 21 Question Id : 630680634133 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Aol ¢ifoRex YNEIhTaR & Taie B fFaforfad & @ &H-91 3= I8t 82

1. 98 Tiforer uRuy fored vad= & Ueh ¥ 3iftfes =R0T 8l €, Hee kel Tiforer TREiIhIaR & g H ST offa g |
II. A TNEAPRR H %3 Uehd YRAHTR TN (cascade) =g & IS g4 §

Options :

1. % Had 1

2. % Had I

3. ¢ [ 3R 1Ml

4. % FATRAG I

Question Number : 22 Question Id : 630680634145 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statement is correct regarding multiplexer?
1. Tt is a logic circuit that gates one out of several inputs to a single output.
II. The input selected is controlled by a set of select input.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. # Neither I nor IT



Question Number : 22 Question Id : 630680634145 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

EIEW (multiplexer) %Wﬂﬁﬁmﬁﬁ@ﬁ-ﬂ $?Ffﬂ€[%‘7

1. I8 U QMoidh URUY § S &3 399¢ § ¥ UF &) Uhd 3T3eye & 7ie Hrdl gl
L. TAfd 399 &I TafAd 3992 & TP I gRT afa far sar 3|

Options :

1. % Had [

2. % HAAII

3. 13RI SHS

4. % A TMRAG I

Question Number : 23 Question Id : 630680634144 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In an n-variable K-map there are cells.
Options :

1. % n-1

2. % 2n

3.9

4. % 2n-1

Question Number : 23 Question Id : 630680634144 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TP n-dREEAK-ATH _ Jagd &l
Options :

1. % n-1

2. % 2n

3.400

4. % 2n-1

Question Number : 24 Question Id : 630680634147 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following is NOT correct regarding digital to analog converter (DAC)?
Options :

1. % In DAC equal increments in the numerical significance of the digital input should result in equal increments in the analog output
voltage.

2. ¥ The accuracy of a DAC is a measure of the difference between the actual output voltage and the expected output voltage.
3. % The analog output voltage for any fixed digital input does not varies with temperature.

4. % When the digital input to a DAC changes, the analog output voltage does not change abruptly.

Question Number : 24 Question Id : 630680634147 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fSfoed I TAa HaR (DAC) & ey & fFafafad o 9 -9 96! A8 87

Options :

1. % DAC T f$fored 31ge & SIS Hed H YA Jfg & URUITERGEY TGN 3T3eYc dieedl § IHM gfg gIH! Arg Ul
2. % DAC 31 GAIHdl, IRATAH AHITYS deed! 3R AT T3y dieedl & o9 3fdR &t AT gt 5

3. ¢ fpeft Rfya e 37qe & e wareiT 3rSeye dYeedr, droAM & 1y uRafdd T8 21 21

4. % 99 DAC H f$fTed $74c Saaar 8, a1 TN T3y dieed! SHwTd ol ggad! g




Question Number : 25 Question Id : 630680634136 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The value of probability error of a system indicates its performance in presence of AWGN, what does ‘A’ stands for in AWGN?
Options :

1. % Amplitude

2. % Acoustic

3. ¥ Additive

4. % Assertive

Question Number : 25 Question Id : 630680634136 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fareht e &t TTRiddT I 1AM AWGN &t IUTRTY T IT% UaR &1 3T aval 8, AWGN H A" ST a1 31 82
Options :

1. ® TIGCTS (Amplitude)

2. % B3RP (Acoustic)

3. ¢ TSfed (Additive)

4. % 3rAfET (Assertive)

Question Number : 26 Question Id : 630680634139 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statement is correct regarding Digital Bandwidth?
I. The digital bandwidth gives the quantity of information contained in a digital signal.
II. The digital bandwidth is expressed in terms of bits per second (bps).

Options :

1. % Only]I

2. % Only IT

3. % Both I and II
4. ® Neither I nor II

Question Number : 26 Question Id : 630680634139 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

feforea oS s & oy A gl §  o1F-91 vy Tg 82

1. fEfrea ¥ arsr fefea Rema & fAfed Yo &1 7 vem Rl 81
11. f$fed o' e ol fae ufd 96 s (bps) b U H ogad a1 Srar 3|
Options :

1. % $Had 1

2. % Had Il

3. ¢ 1SR 1Ml

4. % AA1MRA I

Question Number : 27 Question Id : 630680634140 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT correct regarding prominent hardware techniques used in signal to noise ratio improvement?
Options :

1. % To reduce thermal noise, the main method is to cool the system to lowest possible temperature.

2.+ To avoid partition noise, use diode or devices with huge number of internal current divisions.

3. % To avoid power supply noises, use highly stable power supplies like battery supply.



4. % To reduce distortion, use the devices (and circuits) in the linear regions of the operating curves as far as possible.

Question Number : 27 Question Id : 630680634140 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

RFT-9-39 3UTd YUR & Tgad TG ST IR adb-iie! & Jaiel & fAgfefad § 3 wiH-a1 a8t T8l 82

Options :

1. ® QTORI Xd Bl HH B4 & o, T fafd A o gAdw Ty araw™ a% 8T w1 |

2. ¢ fAUSF 39 T 951 & o, 5t T | 3iialke YRT favsH ard srte a1 feargaal &1 SuanT faar Sar g1

3. % Ifad 3MYfd 39§ g9 & forg, et smyfef SRt srcafiies R fasteft smafdf o1 SuahT fosar srar 81

4. % fIR=ULT (distortion) HH PR & AT, TTe agh! b IR & H GURIHT fEargaa (3R ulkua) &1 STt fbar srar 2|

Question Number : 28 Question Id : 630680634130 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is INCORRECT about half-wave rectifier?

Options :

1. ¥ In half-wave rectification, the rectifier conducts current only during the positive half-cycles of input AC supply.

2. ¥ The ratio of DC power output to the applied input AC power is known as rectifier efficiency.

3. ¢ The pulsating current in the load contains alternating component whose basic frequency is not equal to the supply frequency.
4. % The AC supply delivers power only half the time, therefore the output is low.

Question Number : 28 Question Id : 630680634130 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

3ef- T feesd Ry (half-wave rectifier) ¥ IR H Fgfafad § ¥ SH=-91 7Ted %?

Options :

1. % 37l fotseanur B, fe s} Had 374e AC MY & ST 3Hef-T & SR YRT &1 F1e Bl 6|
2. % DC fad 3TITYE 3R T STYC AC VG & U B! fIeHRY G&rd & &0 B ST STl 8 |

3. ¢ QIS T WeAM YRT & YTdd! Ued gid § fora! d SR, Smgfd smafy & sRreRr a1 g 8|

4. % AC MY FHaet srefepTa H Wi Te Hel 8, ST 313eye A giaT 8

Question Number : 29 Question Id : 630680634131 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT correct regarding full-wave bridge rectifier?

Options :

1. % The need for centre-tapped transformer is eliminated.

2. ¥ The output is twice that of the centre-tap circuit for the same secondary voltage.
3. ® The peak inverse voltage is one-half that of the centre-tap circuit.

4. ¥ It is difficult to locate the centre-tap on the secondary winding.

Question Number : 29 Question Id : 630680634131 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

q:Uf-T‘R'_‘T @ﬂ faseadrt (full-wave bridge rectifier) ¥ Gey ¥ Fgfefad § 9 - el qﬁ%"
Options :

1. % YeR-CTE TIAHIHR & SHTaadHdl JHI 8l STt g1

2. ¢ GAM fgfie dieedr & R egeye, Jez-2u uRuy J ST e g |

3. % TA HehH dieedl, Jer-2u uRuy ) 3neh St 21

4. % fgdiae IEfET IR YU &1 UdT T S BT g



Question Number : 30 Question Id : 630680634126 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT correct regarding semiconductors?

Options :

1. ® The intrinsic semiconductor has little current conduction capability at room temperature.

2. % The process of adding impurities to a semiconductor is known as doping.

3. % The purpose of adding impurity is to decrease either the number of free electrons or holes in the semiconductor crystal.

4. # Depending upon the type of impurity added, extrinsic semiconductors are classified into n-type or p-type.

Question Number : 30 Question Id : 630680634126 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fefarae! & Yay o FAuffad & § o1F-91 Hy7 get A8 82

Options :

1. % 3 3refareie H URA dIIHM W YRT 1o &1 9gd 4 eldl 8|

2. % 3iefTad § SISl A &t Ufoha &I Hig- &gl oiidl 8|

3. ¢ 3T AR &1 3537 Srefarads fohed ® gad gaaeil a1 Rfaadl & TRedm &) 37 ST gl g |
4. % IS T3 3l & UHR F SMUR WR, TR SHaTedh! B n-UHR T p-UbR H Fifferd fpar S g|

Question Number : 31 Question Id : 630680634127 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT correct regarding n-type semiconductor?
I. When a small amount of pentavalent impurity is added to a pure semiconductor, it is known as n-type semiconductor.
II. Impurities which produce n-type semiconductor are known as acceptor impurities.

Options :

1. % OnlyI

2. % Only II

3. % BothIand Il
4. # Neither I nor 11

Question Number : 31 Question Id : 630680634127 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

n THR F fefares & Goy & Fofiad 5 3 oiF-a1 98 98l 52

1. 519 Y Srefarass o ATt A § et foremS STt 8, Y 39 n -USR Sfefaras & &9 § o1 ST g1
Il.aﬁf@w S n-UHR 3fefaras FAftfd st ,3121%1 GfQI@'q}f (acceptor impurities)ﬁ?ﬂ?ﬁ%l

Options :

1. % Bad 1

2. ¥ B 1l

3. % 1SR g

4. % FAIRAGN

Question Number : 32 Question Id : 630680634157 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the context of fourier series, two real time functions are said to be mutually orthogonal over an interval between t; and t,, if the
of their product over this interval is

Options :

1. ¥ integral, zero

2. % integral, not zero

3. # differential, infinite



4. # differential, not zero

Question Number : 32 Question Id : 630680634157 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

HIRGR A0ft F el &, 3 aRATd BIeT Ber ¢, 3R t, P od T SR TR IRER TIH I 81 §, AfS T 3aRTd R 39h
TOAGAS_, BIsl

Options :

1. ¢ GHIDd, LA

2. % A, LAR

3. % 3[ghd, 3d

4. % 3{dohd, Q;aaz

Question Number : 33 Question Id : 630680634158 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statement is correct regarding usefulness of Fourier transform in communication systems?
1. The original time functions can be uniquely recovered from it.
II. Fourier transform has a property analogus to common logarithm that helps in evaluating convolution integrals.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. % Neither I nor I

Question Number : 33 Question Id : 630680634158 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

AR gunferat § BIRGR S Uiarl &t ST & Yay § Fufeied # ¥ SH-91 $3F I8 82

1. g0 $I1d el & 399 Hfgdid ¥ ¥ G foar o Iadi g |

I1. BRI FUTR0T H QIR TEIUG & T 07 BIdT § off Yo JHIG Al BT Hedidhd B § JgTid gl ¢ |
Options :

1. % Had 1

2. % Had Il

3. ¢ 13RI aHl

4. % FATRAG I

Question Number : 34 Question Id : 630680634159 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following property of Fourier transform states that “compression of a function in time domain by a factor b is equivalent to
expansion of its frequency domain by the same factor b or vice-versa”?

Options :

1. # Linearity property

2. ¥ Time-scaling property
3. ¥ Duality property

4. % Time shifting property

Question Number : 34 Question Id : 630680634159 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

HIRTR FUARU & FAgfeRad 7 9 fbg 701 & IR, "SR b gRI BT Uid H b et Bl JUieH, I8 SR b §RT 38D Mg
Uid & TR & SRT6R il §, a1 391 ufdad of 9 g



Options :

1. % RGBT BT IO

2. ¢ IHT UM 00

3. % fgapar qur

4. % BT fIRITI (Time shifting) 0T

Question Number : 35 Question Id : 630680634163 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
In the context of Maxwell’s equation, which of the following is NOT correct?
Options :

1. % The electromotive force around a closed path is equal to the time derivative of the magnetic displacement through any surface
bounded by the path.

2. % The net magnetic flux emerging through any closed surface is zero.
3. # The total displacement through the surface enclosing a volume is equal to the total charge within the volume.

4. % The magneto motive force around a close path is not equal to the conduction.

Question Number : 35 Question Id : 630680634163 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Aogae & Feieur & el §, Fafifad & 3 SH-a1 HyT I 78 22

Options :

1. * U §¢ UY & URA: faggdares vd, 9¥ J R e ges & a1 | Joe 14 fRIT= & $1d ogds & SRR gt g
2. % 5t 5 758 A FAvem aren Y geob 1 Siftiarg T g g |

3. % U AT I ORA aTal IS & HIeOH J F fARATIH, SMad § e A & aRIeR gral g

4.+ UF §¢ UY & URd: 9 a8 9, TTe & SRI6R Tal sl gl

Question Number : 36 Question Id : 630680634162 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statement is correct regarding Gauss’s law?
1. The total flux out of a closed surface is equal to the net charge within the surface.
II. Gauss’s law is the basic theorem of electrostatics and it is also a Maxwell’s equation.

Options :

1. % Onlyl

2. % Only II

3. % Both I and II
4. % Neither I nor 11

Question Number : 36 Question Id : 630680634162 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

MY & fgw & ey o Fufafed & @ H1F-91 Sy 96l 82

1. {53 dg ge8 & e a1a $d SIfETE (flux), T8 & UG SR & SRR BT 5|
11. T3 &1 Fan RRfaggfast &1 9a U9 § 3R I8 Haydd &1 gHieor oft 81
Options :

1. % Had 1

2. % Had 1l

3. ¢ [ 3R 11 g

4. % A TRAG

Question Number : 37 Question Id : 630680634138 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

Which of the following is correct regarding channel capacity (C)? (where B = Channel Bandwidth in Hz, S = Signal power, N = Noise
power)

Options :

| & C=B logz (1 + SN) bits per second

C=B logy [1 - E} bits per second
2. ¢ N

C=B log; [1 —H} bits per second
3. % S

B .
C=—— bits per second

log:[I—E]
4. % 5

Question Number : 37 Question Id : 630680634138 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
S YT (C) b ey 7 oo 7 ¥ HH-391 981 82 (S8l B = Hz B 994 55 AISTs, S = Reqd wfad, N = 39 i 8)

Options :

|« C=Blog, (1 + SN) fae 9fy &3

b

& e 9fy Az

S
B logs [1+ﬁ

4

b

foe afa &=

O
|

N
=B lOgg [I_E

4

Question Number : 38 Question Id : 630680634141 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statement is correct regarding entropy?
1. Entropy is the average information content per message of a source.
II. Entropy is maximized when all messages occur with equal probability.

Options :

1. % Only I

2. % Only II

3. % BothIand II
4. % Neither I nor II

Question Number : 38 Question Id : 630680634141 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Tt & Ty H Fafied 7 § e sy gt 82

1. TS Tt ot Hid & Uil Ham1 ot SiTd a1 St il 5

11. 51§ Gt &= GEH TRt & Iy ufed g1 § ot Trerdt ifrddd gt S § |
Options :

1. ® Had |

2. % Had Il

3. 1SR 1Ml

4. % FA1MRAG I

Question Number : 39 Question Id : 630680634137 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT correct regarding property of mutual information I (X ; Y)?
Options :

| % X Y)=1{¥ : X)

, % L(X;Y)20

3 & X Y)=H(Y)-H(Y]X)

4 » IXY)=-IFH)-HY)-HXKY)

Question Number : 39 Question Id : 630680634137 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

URERS AT 1 (X ; Y) 01 P Gay H Ffafad & § o19-a1 g8t T8 82

Options :

L x I Y)=1(Y;X)

, % I(X;Y)20
; x IX:Y)=H(Y)-H(YIX)
Lo XY =—HX)-HY)-HXY)

Question Number : 40 Question Id : 630680634177 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
In the context of time response of first order system, which of the following is correct for the given figure?

R(s) E(s) C(s)

€
A Ts

Options :

R(s C(s
- (s) - (s)



R(s) C(s)
>

R(s) 7ol C(s) .

w
#®
B

R(s)[1 [€C(s),
Ts+1 i

4.

Question Number : 40 Question Id : 630680634177 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TR FE wa F Fo sEEHA F FeT F, {r v B § v fEea F § se-ar w8 8o

R(s), N Es)

C(s)

L.
Ts

Options :
R(s) C(s)

R(s)
E—
2. 5 IS

C(s)
>

R(s) = C(s)
3. % o=

R(s)[1 [€C(s),
Ts+1 i

4. &

Question Number : 41 Question Id : 630680634150 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The 8085 microprocessor has address lines which give a maximum possible memory size of 64 K bytes.
Options :

1. %6

2. %10

3.% 12

4.9 16



Question Number : 41 Question Id : 630680634150 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

8085 ATIHIUATR T TS A3 B & Off 64 K T8 o1 SHIhaH Hid BHRY S1bR ot B
Options :

1. % 6

2. %10

3.% 12

4. ¥ 16

Question Number : 42 Question Id : 630680634134 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the context of field effect transistors, what does ‘M’ stands for in MOSFET?
Options :

1. ¥ Metal

2. % Mono

3. % Miniature

4. % Moving

Question Number : 42 Question Id : 630680634134 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Ties ghae giforer & g #, MOSFET & 'M' &1 1 31 g2
Options :

1. ¥ HCH (Metal)

2. % M (Mono)

3. % TR (Miniature)

4. % AT (Moving)

Question Number : 43 Question Id : 630680634194 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following is NOT correct regarding time division multiple access (TDMA)?
Options :

1. ® TDMA is a method of time division multiplexing, the digitally modulated carriers between various earth stations in a satellite
network through a common satellite transponder.

2. # TDMA is suitable for transmission of digital information.
3. ¢ At any instant of time the carrier from only one station is present at the transponder, this increases the intermodulation distortion.
4. ¥ Precise synchronization is required.

Question Number : 43 Question Id : 630680634194 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

13 {3 Hedlud TRIE (TDMA) & ey § FRafifad 7 § -1 98 T8l 22

Options :

1. ® TDMA &1 fQUTSH dgdda @1 Ue fafd §, S U i Aearge Srauier & A1eqd § Aearge Jead H fafie orf Rt &
¥t feRrea Argfera aes &1

2. % TDMA f&fTed Ta1 & TRl & fore Sugad grar |

3. ¢ {5 T R Fad T WA Y I8, TSR R HINE 81T 8, 399 SfaRAIgeH AU §¢ SIdT & |

4, % WW (synchronization) Wm%l




Question Number : 44 Question Id : 630680634196 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT correct regarding code division multiple access (CDMA)?
Options :

1. % In CDMA one channel carries all the transmission simultaneously.

2. % Code sequence or signature waveforms are not required.

3. % CDMA is sometimes also called as spread spectrum multiple access.

4. ¥ Tn CDMA the user access the channel in a random manner.

Question Number : 44 Question Id : 630680634196 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Bre fEder Hedlud TRIE (CDMA) & Jeg # fFfead # @ o991 9gl 78t 22
Options :

1. % CDMA ¥ & o-7d U 91 Guft TaRU1 98 R g |

2. ¥ BIS STHH U1 RAR ORI & HaRAH T Te1 oIl 3|

3. % CDMA & Hit-Ft Tis WaeH Aediud TR +f HeTorar |

4. % CDMA T IUGITSH !, Irefsd UHR I 99 dob Ty Rl ¢ |

Question Number : 45 Question Id : 630680634195 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is correct regarding frequency division multiple access (FDMA)?
Options :

1. % Overall bandwidth is shared among many stations.

2. % Synchronization is necessary.

3. % Code-word is required.

4. % Guard bands between adjacent channels are not necessary.

Question Number : 45 Question Id : 630680634195 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Wigad! fSdieH Heeiud T (FDMA) & Saie § FRgfefed o @ oF-a1 ugl 82
Options :

|. ¢ THY S SIS, 3 WY & dIF I i il B

2. % JHJIDIAT (synchronization) S{TIRIDH Eﬁ?ﬂ%l

3. % PIS-IS ISP gl 5|

4. % Gfage 0 & o9 TS I3 3awgs g g1 B

Question Number : 46 Question Id : 630680634178 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statement is correct regarding Multiplexing?
1. Multiplexing allows use of single channel for carrying multiple signals.
II. In optical fibres, wavelength division multiplexing is done.

Options :

1. % Onlyl

2. % Only II

3. ¥ Both I and II
4. % Neither I nor II



Question Number : 46 Question Id : 630680634178 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

FgHPBAT (Multiplexing) & & H FRfoad § § -9 Hy= T8 82

1. SgYHEH (Multiplexing) 3 Rl & ST B T Tebet <7t b ST b1 Gfaen a1 8|
11. P Hd BIgeR T AT o fayrem aﬁﬂaﬂ:{ (wavelength division multiplexing) [ERUEIGI %I
Options :

1. % Had [

2. % Had 11

3. ¢ 3R 1 GHl

4. % ARG

Question Number : 47 Question Id : 630680634179 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the context of multiplexing, sending different signals on the same channel at different points of time is known as
Options :

1. % time division multiplexing (TDM)

2. % frequency division multiplexing (FDM)

3. # space division multiplexing (SDM)

4. # wavelength division multiplexing (WDM)

Question Number : 47 Question Id : 630680634179 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

FgHPBIT (Multiplexing) & TSH ¥, 1 R ITa R A o figei = Ra dsr . weaargl
Options :

1. ¢ T1eH f&dioM AR (TDM)

2. % iad! fSatoM Hec i (FDM)

3. % WY fSaioH A @RI (SDM)

4. % ggai®y SIS Hee IIfRITT (WDM)

Question Number : 48 Question Id : 630680634186 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following network device creates and/or maintains a table that stores the best routes to certain network destinations?
Options :

1. % Bridge

2. % Hub

3. % Router

4. % Gateway

Question Number : 48 Question Id : 630680634186 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

%@?ﬁﬁﬁaﬁqﬁmm@wmﬁﬁaw%ﬁmwwﬁ%ﬁﬁ@aﬁm&ﬁaﬁ%fmﬂaﬁﬂwﬁ
o

Options :

1. % foref

2. % g9

3.9 R

4. % Ticq



Question Number : 49 Question Id : 630680634187 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statement is correct regarding Repeater networking device?
1. They have no in-built intelligence.
II. They do not look at the contents of the packet as they regenerate the signal.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. # Neither I nor II

Question Number : 49 Question Id : 630680634187 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Rftex Aeafd fSarsy & ddy § Rafiiad # 9 $H-91 $Y 981 52

L399 mﬁ%ﬂ@@qﬁ(intelligence)ﬁaﬁ%l
11 3 RIa & G el R T Ube ) el ) gt o g

Options :

1. % Had 1

2. % Had I

3. ¢ 1 3R 1Sl

4. % FATAMRAS0

Question Number : 50 Question Id : 630680634184 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following type of network topology uses a common backbone (a single cable) to connect all devices with terminators at both
ends?

Options :

1. # Ring topology
2. % Star topology
3. % Bus topology
4. % Tree topology

Question Number : 50 Question Id : 630680634184 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

frafaRad & O f5a UeR &1 Aead cramaren & W fearsd! & gl RRI IR efifaex 9 Siiga & ol T &1 s&ha (THhd Had)
BT IUIRT {31 STl 52

Options :

1. % far e

2. % TR TrOrdrst

3. ¢ 99 SIUTlSil

4. % Tt

Question Number : 51 Question Id : 630680634185 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In computer networks, a fully connected mesh network has physical links to link n devices.
Options :

1. ¥ n(n-1)/2

2. % n(n/2)



3. ¥ n-1(n/2)
4. % n(n+1/2)

Question Number : 51 Question Id : 630680634185 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SR AT H, T YUl IR AR Aeadh H n fEargdl 1 sig & fag i fefes B1d 5 |
Options :

1. ¥ n(n-1)2

2. % n(n/2)

3. % n-1(n/2)

4. % n(n+1/2)

Question Number : 52 Question Id : 630680634188 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
A tree topology combines the characteristics of linear and topologies.
Options :

1. ® bus, ring
2.+ bus, star
3. % ring, star

4. % star, mesh

Question Number : 52 Question Id : 630680634188 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

FEEIICIEEED 3R ELISISIEIIENERIUR RIS RGN
Options :

1. * 59, R

2. ¢ Y LR

3. % 1, ®R

4. % R, A

Question Number : 53 Question Id : 630680634119 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is correct about Thevenin’s theorem?

Options :

1. ¥ Any two terminal bilateral linear DC circuits can be replaced by an equivalent circuit consisting of a voltage source and a series
resistor.

2. ¥ Any linear active network consisting of only dependent voltage and linear bilateral network elements can be replaced by an
equivalent circuit consisting of a current source in parallel with resistance.

3. % The algebraic sum of currents at any node of a circuit is not zero.

4. % The algebraic sum of currents entering a node must be equal to the algebraic sum of the currents leaving a node.

Question Number : 53 Question Id : 630680634119 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Y 7y & IR H Fafafed § 4 SH-a 98 82

Options :

1. w%a%aﬁﬁqamﬁ%‘aﬁ@amcuﬁwaﬁwa‘rm@asﬁ?w o7t Ui T gad T URTY GRT Ufaiid fasan
NIECXIE!



2. % Had AT dieedT 3R IS fguie Fead ufere arar H1E IRae Tfshd Aead UfoRiYy & TY FHHIGR $HH H Uh YRT Fd
TS TAge IRUY gRT wfaeafid e S g g1

3. % gRUY & Bl s W yrsit &1 Smiidta 9 g et gl |

4. % U e H YA B araht YRISH BT SorTioraa anT, Ais J e arelt ¢R1si & ST O & sR1eR 8iH1 1Tl

Question Number : 54 Question Id : 630680634120 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

“If a number of voltage or current sources are acting simultaneously in a linear network, the resultant current in any branch is the
algebraic sum of the currents that would be produced in it, when each source acts alone replacing all other independent sources by their
internal resistances.”

The statement given above is related to which of the following?

Options :

1. ¥ Maximum power transfer theorem
2. % Superposition theorem

3. ¥ Norton’s theorem

4. ¥ Kirchhoff’s voltage law

Question Number : 54 Question Id : 630680634120 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

"gf Ueh XRP e H Ps dleedl AT YRT A Th J1Y BT HR @ 8, dl [l Tmar 7 uRome) ¢RT I8 I 814 arelt YRS o
diorTforeita i g1 h, S8 Ude Aid udh ST Bd g THI 30 W Al &1 3% SHidie UfaRidl gRT ufaeifid #=ar g1
SR fear mar sy gt & 9 fea gefia g2

Options :

1. % 3ffUHad Afed o THy

2. ¢ IR JHY

3. % T B UHT

4. % AP &1 dieed! &I a9

Question Number : 55 Question Id : 630680634142 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the decimal equivalent of the (1111),?
Options :

1. %10

2. %12

3.¥15

4. % 17

Question Number : 55 Question Id : 630680634142 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
(1111), T GRATE A I 82
Options :

1. %10

2. % 12

3.¥415

4, % 17

Question Number : 56 Question Id : 630680634143 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



What is the octal equivalent of (25);(?
Options :

1. %13

2. % 31

3. %25

4. % 35

Question Number : 56 Question Id : 630680634143 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
(25), BT 3FSH TOI T 87
Options :

1. # 13

2.9 31

3. %25

4, % 35

Question Number : 57 Question Id : 630680634135 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
In the context of Colpitt’s oscillator, which of the following is correct regarding frequency of oscillations?

(where Cy, C; are capacitors L is inductor, C, = % )
Options :
o 1
L 27 LC
g
f=——

2. % sl

- f=2mnJLC;

¢ LG
2n

4. %

Question Number : 57 Question Id : 630680634135 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Frafte SfaT & dest &, 2ot #r amgfer F v & PR F v daw @ 2 (@@ ¢, ¢,

g : ce;
mafT &, L 9T &, cT=—CE+C2)

Options :



, x =27 LGy
AL

Cr
4. 8 2n

Question Number : 58 Question Id : 630680634193 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The silicon controlled rectifier (SCR) is a terminal semiconductor switching device.
Options :

1. # two

2. ¥ three

3. ® four

4. ® six

Question Number : 58 Question Id : 630680634193 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

fferepia fifaa feesrt (Scr) T T At eder figaq fSarsg gidt 31
Options :

1L® 3

2. A

3. % TR

4. % 3g

Question Number : 59 Question Id : 630680634180 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statement is correct regarding transmission system?
I. In analog transmission, there is a continuous up and down pattern.
II. In digital transmission, wave patterns are translated into discrete bits and are separated by intervals.

Note: For this question, discrepancy is found in question/answer.

Full Marks 1s being awarded to all candidates.
Options :

1. Only

2.Only II

3.BothIand IT

4. Neither I nor II

Question Number : 59 Question Id : 630680634180 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TR 47 & Toje A Faferiad 7 @ S99 $u 98 22

L. TGN TR ¥, 9dd SR 3R - &1 U gl g |

11. fEfrea TR ®, a7 e & fafded foey & ager ST 8 9k SavTd gR1 gy foar S B



Note: For this question, discrepancy is found in question/answer.

Full Marks 1s being awarded to all candidates.
Options :

1. %Had

2.%ad I

3.1 3R 1 gHt

4@ RIS

Question Number : 60 Question Id : 630680634181 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the context of communication channel, in type of channel, transmission can take place in either direction, but not at the same
time.

Options :

1. ¥ half-duplex
2. % simplex

3. * full-duplex

4. % half-simplex

Question Number : 60 Question Id : 630680634181 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

YORFA S GUH, TR &b o d H, JaRUI Bl fa=m & g1 Hevdll 3, dfch T4 U &1 97 W =781 gIa|
Options :

1. ¢ BIh-gkidd

2. % ey

3. % Bol-gwidd

4. % BIop-Rreiey

Question Number : 61 Question Id : 630680634161 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In the context of sampling theorem, a band limited signal having no frequency components higher than f,, Hz may be completely
recovered from the knowledge of its sample taken at the rate of at least samples per second.

Options :

1. # fm

2. 2fm

Question Number : 61 Question Id : 630680634161 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Al woa & ded #, T o' Wid Ra fod £, Hz 3 Sifie g SMgfi ged 15l 8, 39 =gad gfies ufd Jdhe ot
R ¥ fore e ufdest & I ¥ U e 9§ g far o g g |

Options :



Question Number : 62 Question Id : 630680634160 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
In the context of sampling theorem, a band limited signal having no frequency components higher than f,; Hz is completely described by
its sample values at uniform interval less than or equal to apart.
Options :
1

—8
L 2f

2. % fas

Question Number : 62 Question Id : 630680634160 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
vl v & T °, teh o' Hfid Ra o £, Hz @ $1fie smgfy oesd 6 g, S g e q J HH T7 3TB TR
A SR W 39 Ufaes! 71 gR1 aftfa fear smar g
Options :
1

—s
2f

Question Number : 63 Question Id : 630680634146 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statement is correct regarding read only memory (ROM)?
I. It is a semiconductor memory device used to store information which is permanent in nature.
II. In Erasable Programmable Read Only Memory data can be written any number of times.

Options :



1. % Only I

2. % Only II

3. % Both I and II
4. % Neither I nor II

Question Number : 63 Question Id : 630680634146 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

e et At (RoM) & Tay | Fgfeied # § H1F9-91 H3- 8t 82

1. 78 U& Jffarass AORI fEarsy § ot SUanT 37 Jamsil &1 TUeld &R & fog fasar S § S wirdt uepfa &t 81t 81
1. 3oTd TmREd 8 el AH o Ser &t fpa=t vt IR forar s awar g |

Options :

1. % Had 1

2. % Had I

3. ¢ 13RI gHl

4. % FATRAG

Question Number : 64 Question Id : 630680634122 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following is correct regarding inductive reactance (Xy )? (where f= supply frequency, L = pure inductance

element)
Options :
n
X]’_ et
1 % fI.
2xf
X]’_ —_——
2. % L
X, =1
3 27

4. & X]_=ETL"_EL

Question Number : 64 Question Id : 630680634122 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

SR Saen (X)) & ey & T & @ Si9-a @ 32 (S f = i s, L = feE

Werea Thode &)
Options :
2
p R
1 ® L.
2nf
e
0 L
XL=_



4. & X]_=2Ttﬂ_,

Question Number : 65 Question Id : 630680634123 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A series RLC circuit has R = 10€Q, L = 2H, C = 14uF. A 100V, 50Hz supply is applied across the circuit, find the
capacitive reactance.

Note: For this question, discrepancy is found in question/answer.

Full Marks 1s being awarded to all candidates.
Options :
1

1. 4400
5 44000

3. 0,440
4. 0.44

Question Number : 65 Question Id : 630680634123 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
v AU RLC 9ftger # R = 10Q, L = 2H, C = 14uF g 9fwer & 100V, 50Hz 3mafd sg&a @ e
g, aiar sfaera sa fifEw

Note: For this question, discrepancy is found in question/answer.

Full Marks 1s being awarded to all candidates.
Options :
1

1. 4400
5 44000

3. 0,440
4. 0.44

Question Number : 66 Question Id : 630680634166 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statement is correct regarding Smith chart?
1. The smith chart is one of the most useful graphical tools for high frequency circuit applications.
II. Transmission lines and impedance matching problems can be solved by smith chart.

Options :
1. % Only I



2. % Only II
3. % Both I and II
4. % Neither I nor 11

Question Number : 66 Question Id : 630680634166 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

@7y aré & Yay # Ffoad § ¥ SH-91 53 I8l 82

1. @7y 91é 3= Sgfty ardt uRuy Sruan & forg ue qed Iuanh mitved ca g1
1. 81 =7 GRT URwur @13 SR Ufdare fiyam gawnstt & g faran o a1 g
Options :

1. % Had

2. % Had I

3. ¢ 13RSl

4. % A TRAG I

Question Number : 67 Question Id : 630680634200 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statement is correct regarding application of smith chart?
I. Determination of input impedance and admittance of short circuited line.
II. Used for line matching by the parallel stubs.

Options :

1. % Only I

2. % Only II

3. % Both I and II
4. % Neither I nor II

Question Number : 67 Question Id : 630680634200 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Y A1E & SryAnT & Hey § FafiRad # § &H-91 o gl 62
1. 37Yc ufaarer, 3R @Y uRufd drg &1 yawadT J1d S|

1. THHIR T d gRT a1 e & fore IuanT fear S g |
Options :

1. % Had 1

2. % Had Il

3. ¢ 13RI aHl

4. % FAIRAG I

Question Number : 68 Question Id : 630680634167 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
A complete revolution (360°) around the smith chart represents a distance of on the line.
Options :

1% A



Question Number : 68 Question Id : 630680634167 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

o7 aré & uRa: U gof uResauT (360°) X1 TR o g A B
Options :

1. #® A

2. % Zn
3.9 N2

4 % 4A

Question Number : 69 Question Id : 630680634164 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT correct regarding wave guide?

Options :

1. ¥ Wave guide is a one conductor structure that can support transverse electromagnetic waves.

2. % A wave guide is not considered to strictly be a transmission line, as it is not constructed with two separate conductors.
3. # It can typically handle very large power.

4. % [t can have very low loss.

Question Number : 69 Question Id : 630680634164 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

T UYS & ey H Fafiied # § SH-91 HU= 981 781 62

Options :

1. ¢ T 9YF U 1 T gl & o SR faggd e 1g a &1 JHdT o I 5|

2. % T UYF P Yufd: T TRV A1 T8t {HT Sl €, Fifeh sqaT Fmfor € gy areie! & a1y =g fopar S g |
3. % Ig AR WR g8 A% faggawfad & ary &1 H= gl g

4. % TUH 9gd HH N 81 G 5|

Question Number : 70 Question Id : 630680634165 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following statement is correct regarding waveguide?

1. A waveguide is a hollow metallic pipe through which an electromagnetic wave can propagate with spreading.

II. The waveguide could have rectangular cross-section or a circular cross-section accordingly it is called rectangular waveguide or a
cylindrical waveguide.

Note: For this question, discrepancy 1s found in question/answer.

Full Marks 1s being awarded to all candidates.
Options :

1.Only I

2. Only II

3.BothIand I

4. Neither I nor II

Question Number : 70 Question Id : 630680634165 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

T U &b Jeiyl H Faferad 8§ J Si-a1 oy I8t 22

1. T U4 U JRIAT YTfcdas UTSY BIal & forddh H1ed J T fggd JRid g aiT tha o 91 TR &R Il g |
II.WqWﬁ%mwa@rwuﬁ%—c:mqaﬁu T TR S Bl el 7, TETHR 39 SMIAIGR R UYS AT SATHR a<il
Uy Hel Sl g |

Note: For this question, discrepancy 1s found in question/answer.

Full Marks 1s being awarded to all candidates.
Options :

1. had I

2.%ad I

3. 13R 1 gHt

4.9A 13RI

Section B
Section type : Online
Section Negative Marks : 0
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0
Is Section Default? : null

Question Number : 71 Question Id : 630680634307 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Fill in the blank with the most appropriate article:

As a nation, Bangladeshisare  religious-minded but not zealots.
Options :

1. % a

2. % an

3. % the

4. ¥ no article

Question Number : 71 Question Id : 630680634307 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Fill in the blank with the most appropriate article:

As a nation, Bangladeshis are  religious-minded but not zealots.
Options :

1. # a

2. % an

3. # the

4. ¥ no article

Question Number : 72 Question Id : 630680634309 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Fill in the blank with the most appropriate adjective:

Could you tell me idea this was?
Options :
1. % what



2. % whose
3. % which

4. * whom

Question Number : 72 Question Id : 630680634309 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Fill in the blank with the most appropriate adjective:

Could youtellme  idea this was?
Options :

1. # what

2. ¥ whose

3. # which

4. % whom

Question Number : 73 Question Id : 630680634311 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Choose the synonym for the word “ascertain” in the sentence given below:

Before I book the flight, I need to ascertain how it affects my finances.
Options :

1. # discount

2. ¥ determine

3. # combust

4. # control

Question Number : 73 Question Id : 630680634311 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Choose the synonym for the word “ascertain” in the sentence given below:

Before I book the flight, I need to ascertain how it affects my finances.
Options :

1. # discount

2. ¥ determine

3. # combust

4. ¥ control

Question Number : 74 Question Id : 630680634313 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

FEfIRad Uy ¥, IR fadedl & 9, I fadhed &1 909 < 5l IS | [GU U Weq & SJUR gl (AU & =Y aran [ddhed g
3 T9 90 BE o & (3IE) AT QA qHRI R 4

Options :

1. ¢ TUIara [aRIv0T

2. % JHATErED faRIv0

3. % I faRivor

4. % GRHTUETESD fa=yor

Question Number : 74 Question Id : 630680634313 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



fFrafafed oy &, IR fawed! § 9, 39 90 &1 999 HY o $Ie H AU T4 Weg & SIUR I8! fIRw0r & &4 arefl fidbea 3|
J 9 3 Bs (el & (SFRIT) T ¥ YHRT IR U |

Options :

I CIECACRI]

2. % YBTArES ARy

3. % Qe faRwor

4. % gRETUGTIS faRoT

Question Number : 75 Question Id : 630680634321 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Fafafaa uy §, TR ol § ¥, 39 fawey &1 999 o Sl fou U Weg & fadiH Weg &1 fabeu 3
HHR

Options :

1. # gl

2. % fRiy

3. % gl

4. v ud

Question Number : 75 Question Id : 630680634321 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

o oy ¥, IR fadedl & 9, 39 faded &1 989 &< Sl U 1Y Teg & e ea &7 fabed 5
HHR

Options :

1. % ggul

2. % fRYy

3. % UIgT

4.« 1A

Question Number : 76 Question Id : 630680634337 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Who became the third female grand-master in chess from India?
Options :

1. % Vaishali Rameshbabu

2. # Koneru Humpy

3. # Harika Dronavall

4. % Kulkarni Bhakti

Question Number : 76 Question Id : 630680634337 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

YRA 9 IS § T Afgel Fs-AReR i
Options :

1. ¢ QRITCH IHRETY.

2. % BT gt

3. % gReT AUMaer!

4. % Porcpull Hidd

Question Number : 77 Question Id : 630680634338 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

Which team did India defeat to win the Asian Champions Trophy title 2023 in the game of men's hockey?
Options :

1. # South Korea

2. # Pakistan

3. ¥ Malaysia

4. % Japan

Question Number : 77 Question Id : 630680634338 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Y gl Vel T YR 7 {5 11 ) g1an TS fds it 2023 1 Ry sfar
Options :

1. % g eiRar

2. % UrfhEd™

3. ¢ HaRmT

4. % 419

Question Number : 78 Question Id : 630680634339 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In which of the following fighter jet did the Prime Minister of India Narendra Modi flew a sortie becoming the first prime minister to do
so?

Options :

1. # Vibuthi

2. ¥ Tejas

3. # Talwar

4. #¥ Vayu

Question Number : 78 Question Id : 630680634339 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

YR & Ter H= Rg 7 3 gl 7 3 foy dsre fomm 3 Sem 1 ok 391 37 arat uga we waft o+ T
Options :

1. % fayfd (vibuthi)

2. ¢ do g (Tejas)

3. ® dAdR (Talwar)

4. % drg (Vayu)

Question Number : 79 Question Id : 630680634330 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Global Hunger Index score of India was in the category of _ on the Global Hunger Index Severity of Hunger Scale.
Options :

1. % Low

2. % moderate

3. % serious

4. % alarming

Question Number : 79 Question Id : 630680634330 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

AP YR YEHTH R URA FI DR Y@ B IRAF THA®R  guit Fam



Options :

1. % g

2. % HYH

3. TR

4. % fdroMs

Question Number : 80 Question Id : 630680634331 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

from IIT Madras has been conferred with the renowned Eni Award for his/her ground-breaking work in providing affordable and
sustainable clean water using advanced nanoscale materials in 2023.

Options :

1. % Professor Rajnish Kumar

2. # Professor Thalappil Pradeep

3. # Professor Indumathi Nambi

4. # Professor Lelitha Devi Vanajakshi

Question Number : 80 Question Id : 630680634331 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

2023 ¥, SIS AGM (IIT Madras) 1, Id -1 JHARRIT & IUGIT gRT fhmradt 3R YR T3 Sdf Sudsy
TR T 395 YYD BT & o, URIE T TRIBR (Eni Award) I T farar T g1

Options :

1. % YR TG $UR

2. ¢ TIHER YaAfdd udig

3. % TR sgAfd el

4. % YIhaR qferyT <dt aforeft

Question Number : 81 Question Id : 630680634342 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Civil Disobedience Movement was ledby
Options :

1. ¥ Mahatma Gandhi

2. # Jawaharlal Nehru

3. % Bal Gangadhar Tilak

4. # Gopal Krishna Gokhale

Question Number : 81 Question Id : 630680634342 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

i Sas gl dI g A fbar
Options :

1. « HgTe e

2. % SATERATd g aId

3. % TR el

4. % YT T TRES

Question Number : 82 Question Id : 630680634343 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Sangam literature is a collection of ancient works.
Options :



1. ¥ Tamil

2. ® Malayalam
3. # Sanskrit

4. # Telugu

Question Number : 82 Question Id : 630680634343 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
SHEfA U Bl $18u8 B
Options :

1. ¢ dfere

2. % HAIIdH

3. % JIhd

4. % qqi

Question Number : 83 Question Id : 630680634344 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Ebony, mahogany, rosewood, rubber are the commercially important trees of which of the following forests?
Options :

1. # Thorn Forests and Scrubs

2. # Tropical Deciduous Forests

3. ® Montane Forest

4. ¥ Tropical Evergreen Forests

Question Number : 83 Question Id : 630680634344 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

AT, N, 2fiem, IR FAufafed & @ forg 979 & saraaiiie ©u J Agayu Us 82
Options :

1. ® hed o R el

2. % Juipbfed e gufard o

3. % Uddg o

4. ¢ UGB YGEER a9

Question Number : 84 Question Id : 630680634335 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Consider the following statements:

A) The Constitution of India vests the executive power of the Union formally in the President.

B) The President has veto power by which he can withhold or refuse to give assent to Bills passed by the Parliament.
C) The two Houses of the Indian Parliament are the Council of States and the House of the People.

Options :

1. # Only A and B is true
2. % Only B and C is true
3. % Only A and C is true
4. ¥ A, B, C are true

Question Number : 84 Question Id : 630680634335 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
FafeRad Y W dTR ST
A) HRA &1 HiIUTH H9 BT SRIGRT Wi lu=iie w0 ¥ pufd & Ffgd s g |



B) AIFURI & U dic! fad § T gR1 98 H9e gR1 U [Aae! $T SrgAfd & J A Tl § a1 71 HR Gl 5|
C) HRAIT TS & &) Je ATTHT 3R AHIHT B |

Options :

1. % Had AR BIT &

2. % PIAB IR CIT G

3. % HITAIMNRCITE

4. VA B CIIE

Question Number : 85 Question Id : 630680634336 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In dicotyledonous plants, the primary roots and its branches constitute the
Options :

1. # fibrous root system

2. # adventitious roots

3. % tap root system

4. % hard root system

Question Number : 85 Question Id : 630680634336 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

mﬁ?ﬁﬁ, QTW\_SI_S.' (primary roots) ﬁmm_ﬁﬁﬁmm%l
Options :

1. % FhSI oS A (fibrous root system)

2. % URTAD TS (adventitious roots)

3. I &S o (tap root system)

4. % HOR S T (hard root system)

Question Number : 86 Question Id : 630680634357 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In a row of boys, Jay is 11th from the left end of the row and Sagar is 23rd from the right hand of the row. If there are 14 boys between
Sagar and Jay. How many boys are there in the row?

Options :
1. % 44
2. % 47
3.9 48
4. % 40

Question Number : 86 Question Id : 630680634357 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TSP ) T Ui A, o, U $ ISR 13 ®F R R SR R, Ui @t SR @ 233 W W ¥ 7R OR 3R 5 & e
14 TS &1 Ufea & b aed &2

Options :

1. % 44

2. % 47

3. 948

4. % 40

Question Number : 87 Question Id : 630680634368 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



How many such even numbers are there in the given series each of which is immediately preceded and followed by an odd number?
78545647843215674435245467

Options :
1. ¥4
2. %3
3.%2
4. %5

Question Number : 87 Question Id : 630680634368 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

& 112 sRgen o Wft forait g0 Tt € e St uga SR 31 aTe U faww T g2
78545647843215674435245467

Options :

1.¥4

2. %3

3. %2

4. %5

Question Number : 88 Question Id : 630680634364 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Arrange the following words in alphabetical order:
1. SHRINK

2. SKATE

3. SKETCH

4. START

5. SHORT

Options :

1. % 51234
2. % 52134
3. % 51243
4. % 51324

Question Number : 88 Question Id : 630680634364 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

frafoRed wreal &I quidmH § afRyd Hifor:

1. SHRINK

2. SKATE

3. SKETCH

4. START

5. SHORT

Options :

1. ¥ 51234
2. % 52134
3. % 51243
4. % 51324

Question Number : 89 Question Id : 630680634370 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Shilpa is the wife of Dhiraj and Dhiraj is the brother of Sumit. Sumit is the son of Gagan. How is Gagan related to Shilpa?
Options :

1. # Father



2. % Husband's father
3. # Brother
4. % Son

Question Number : 89 Question Id : 630680634370 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

e, RS &1 uelt g 3R R, YA &1 UIS 8 | GIAd, TWH &1 3 § | T &1 e I o1 daiy g2
Options :

1. % foar

2. « YR (Ufd 1 )

3. % 4TS

4. % QF

Question Number : 90 Question Id : 630680634366 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Select the option related to the third word in the same way as the second word is related to the first word.
Oven : Baker :: Scalpel : ?

Options :

1. # Gardener
2. % Surgeon
3. # Painter
4. % Architect

Question Number : 90 Question Id : 630680634366 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

39 fashed &1 997 FIVTE S R Teg T I UHR Fafd & o TR Rl s Ued e F Yafid g |
31 : IR :: WpAUd : ?

Options :

1. % MER

2. ¥ Hoi

3. % U

4. % 3fdhcae

Question Number : 91 Question Id : 630680634392 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The average of five consecutive odd numbers is 59. Find the sum of the highest and lowest numbers.
Options :

1. # 117

2. % 112

3. % 116

4.9 118

Question Number : 91 Question Id : 630680634392 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Ue ST fawH TRemail &7 3id 59 81 Jad 91 3R I BT TIAT3f o7 TN d J1d BT
Options :

1. ® 117

2. % 112



3. %116
4.4 118

Question Number : 92 Question Id : 630680634373 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Find the compound interest on X 15,000 in 1.5 years at 20% per annum, the interest being compounded half-yearly.
Options :

1. % %5546

2. ¥'%4965

3. % 33255

4. % T 4755

Question Number : 92 Question Id : 630680634373 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

215,000 TR 20% AT G ¥ 1.5 a8 § YT Iehdfes, SIS 1 BT, ST 311 b ¥ & Thafes fobar Srar g
Options :

1. # 25546

2. ¥ %4965

3. % %3255

4. % 34755

Question Number : 93 Question Id : 630680634384 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The Bar graph shows the number of books purchased by 5 shopkeepers of two types i.e. Mystery and Comedy. Find the
total number of books purchased by shopkeepers L and N.

H Mystery books purchased ® Comedy books purchased

752
687
553 s
483
g 456 457 423
400
300
200 - 148 136
100 -
o -
1 K L M N

Shopkeeper

g§8¢88

Number of books

Options :
1. ¥ 1482
2. % 1442
3. % 1452
4. % 1432

Question Number : 93 Question Id : 630680634384 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



I AF A 5 GFECR! I af FHR @ wuT A 3k FAgr Fr @i 7w grae S g #t g
AT B1 gFEER L AR N GaFRr @ddr 717 qEae # Fo FEaT A S

B Mystery books purchased ® Comedy books purchased

700
600 - 553
300 4

73z
687
511
7
456 45 423

400
300

200 4 148 146
100 -
n -

K L M N

I

Mumber of books

Shopkeeper

Number of books = J¥de! &I HEAT, Mystery books purchased = A & @idr 715 Iras
Comedy books purchased = FHIH3ST I TIUET 75 &=, Shopkeeper = FFHER

Options :
1. ¥ 1482
2. % 1442
3. % 1452
4. % 1432

Question Number : 94 Question Id : 630680634395 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The sum of four consecutive integers is 174. Which one of these four integers is prime?
Options :

1. % 31

2. %37

3. % 4]

4.9 43

Question Number : 94 Question Id : 630680634395 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

IR HUNT YUl BT IRTHA 174 8| 31 IR QUID! B I HIH-H T 31HTT WA 52
Options :

1. % 31

2. %37

3. % 41

4. ¥ 43

Question Number : 95 Question Id : 630680634396 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The LCM of two co-prime numbers is 667. If one of the numbers is 23, then find the other number.
Options :

1. % 31

2.9 29

3. %19

4. % 17



Question Number : 95 Question Id : 630680634396 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

& - 31HTST TS BT LCM, 667 €1 Tfe; Teh TeAT 23 &, Al g8} e 91 siforu|
Options :

1. # 31

2.9 29

3.% 19

4. % 17

Question Number : 96 Question Id : 630680634387 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Two candidates Aman and Rina contested an election. 70% of voters cast their vote and there were no invalid votes. Aman got 57% of the
votes cast and won by 882 votes. What is the total number of voters on the voter's list?

Options :

1. % 9000
2. % 8000
3. % 10000
4. % 7000

Question Number : 96 Question Id : 630680634387 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

& STIGART 3 3R 91 7 TP AT ASTI 70% HAGTATST = dIe ST 3R Dis 1 3fay e Tt U1l STal MW ale! & ¥ 3 BT 57%
are e 3R 98 882 At ¥ Sitd 4T | Aaardr Gt H Adardrel &1 pa e farant 82

Options :

1. % 9000

2. # 8000

3. % 10000

4. % 7000

Question Number : 97 Question Id : 630680634398 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A trader bought 17 books for 68 rupees. Determine the selling price per book to make a profit of 30%.
Options :

1. #%26.6

2.%%52

3. %348

4. %376

Question Number : 97 Question Id : 630680634398 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

TP AR A 2 68 7 17 frare @RIl | 30% &1 a4 U - & fore ufa Teass fasa ge Fuffea sifor)
Options :

1. #%6.6

2.9%52

3. %3438

4. %376



Question Number : 98 Question Id : 630680634379 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Find the ratio of the third proportional to 14 and 56 and the mean proportional between 11 and 44.
Options :

1.9 112:11

2. % 114 : 11

3. % 109:12

4. %107:12

Question Number : 98 Question Id : 630680634379 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

14 3R 56 % JAITIT TUT 11 3R 44 & ATEATIUNA BT SUT 1 DI
Options :

1.+ 112:11

2. % 114: 11

3. % 109: 12

4. %107:12

Question Number : 99 Question Id : 630680634380 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

27 men can complete a piece of work in 33 days. How many additional men will be required to complete double the work in 54 days?
Options :

1. %7

2. %8

3.6

4. %9

Question Number : 99 Question Id : 630680634380 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

gﬁamﬁ%&ﬂao‘r&ﬁwﬁﬂ‘fﬁqﬂmm%aﬁuﬁﬁﬁs4ﬁ=ﬁﬁqﬂaﬂﬁ$%ﬁmﬁmﬁaﬁmﬁw
9

Options :

1. %7

2.% 8

3.¥6

4. %9

Question Number : 100 Question Id : 630680634401 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A car travels a certain distance at a speed of 80 km/hr in 5 hours. Find the speed it would need to cover the same distance in 4 hours.
Options :

1. % 80 km/hr

2. % 120 km/hr

3. % 100 km/hr

4. % 90 km/hr

Question Number : 100 Question Id : 630680634401 Is Question Mandatory : No Calculator : None Response Time : N.A Think
Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

TP R 5 G T 80 ke/hr D1 AT T Teb A T8 T Bl 81 98 g1 4 1 T 00 A & foIw 3apt SM1a=aes a1et A1 il |
Options :

1. # 80 km/hr

2. % 120 km/hr

3. ¥ 100 km/hr

4. % 90 km/hr



